4. (@) [=rf or ACB=2x0A M1)
=30cm (AD) (c2)
(b) AOB(obtuse)=2m—2 (A1)
Area = %ar-’ - %(21:— 2)(15)° (MI1)(AI)
=482cm’ (3s5.f) (41) (C9)
[6 marks]
20. h=rso2r’=100=r>=50 M1)
1=100=2mr (M1)
-8 = 21450 (Al)
10
_215V2
10
0=nJ2=444 3sf) (Al)
Note: Accept either answer.
Answer: 6=ny2 =444 (3sf) (C4)
QUESTION 14
(@) areaof sector ABDC = lzn ) =n (A1)
area of segment BDCP =t —area of AABC MI1)
=n—2 (41) (€3
(b) BP=42 (A1)
area of semicircle of radius BP = lin(\/i )2 =n (AD)

area of shaded region =nt—(n—-2)=2

(A1) 3




QUESTION 2

Area of large sector %rlo = %lé2 x1.5 M1)
~192 Al
Area of small sector %rzé’ = %x 10°x1.5 M1)
=75 (A1)
Shaded area = large area — small area = 192 — 75 M1)
=117 (A1) (C6)
QUESTION 14
METHOD 1
Area sector OAB = %(5)2 (0.8) M1)
=10 (Al)
ON=5c0s0.8 (=3.483..) (A1)
AN=55in0.8 (=3.586.....) (A1)
Area of AAON = %ONx AN
=6.249... (cm?) (A1)
Shaded area =10-6.249..
~3.75 (cm?) (A1) (C6)
METHOD 2
Area sector ABF = %(5)2 (1.6) M1)
=20 (Al)
Area AOAF = %(5)2 sinl.6 M)
=12.5 (4D
Twice the shaded area =20-12.5 (=7.5) M1)
Shaded area = %(7.5)
=3.75 (cm?) (A1) (C6)




QUESTION 4
1,

A==1r0
(a) 57

1 )
27=—(1.5r"

2( )
r’=36

r=6cm

(b) Arclength =r@=1.5x6
Arc length =9 cm

[ Note: Penalize a total of (I mark) for missing units.

(MI)(AD)

(A1)
(AI)

(M1)
(AI)

(C4)

(c2)




